
8.à$'�:<.21$:&=<�%8')(78�1$�52.�����
=Dá�F]QLN�QU���GR�XFKZDá\���������������
=DU]�GX�3RZLDWX�*GD�VNLHJR��������������
1U������]�GQLD�����������U��������������

']LDá 5R]G] 3DU 1D]ZD�.ODV\ILNDFML�%XG*HWRZHM %8')(7�35=(' =01,(-6=(1,$=:,	.6=(1,$ %8')(7�1$
=0,$1� ����� ����� ��������

�������������
��� *2632'$5.$�0,(6=.$1,2:$ ������������ ��������� �������� ������������

����� *2632'$5.$�*5817$0,�,�1,(58&+202�&,$0,��� ������������ ��������� �������� ������������

���� 'RWDFMH�FHORZH�RWU]\PDQH�]�EXG*HWX�SD�VWZD�QD�]DGDQLD�ELH*�FH�]�
]DNUHVX�DGPLQLVWUDFML�U]�GRZHM�RUD]�LQQH�]DGDQLD�]OHFRQH�
XVWDZDPL�UHDOL]RZDQH�SU]H]�SRZLDW�

��������� ��������� �������� ���������

��� $'0,1,675$&-$�38%/,&=1$ ���������� �������� ���� ����������
����� .20,6-(�32%252:(��� ��������� �������� ���� ���������

���� 'RWDFMH�FHORZH�RWU]\PDQH�]�EXG*HWX�SD�VWZD�QD�]DGDQLD�ELH*�FH�]�
]DNUHVX�DGPLQLVWUDFML�U]�GRZHM�RUD]�LQQH�]DGDQLD�]OHFRQH�
XVWDZDPL�UHDOL]RZDQH�SU]H]�SRZLDW�

��������� �������� ���� ���������

��� 3202&�632à(&=1$ ������������ ���� ��������� ������������
����� '20<�3202&<�632à(&=1(-��� ������������ ���� ��������� ������������

���� 'RWDFMH�FHORZH�RWU]\PDQH�]�EXG*HWX�SD�VWZD�QD�UHDOL]DFM
�
ELH*�F\FK�]DGD��ZáDVQ\FK�SRZLDWX��

������������ ���� ��������� ������������

5$=(0� ������������� ��������� ��������� �������������

'2&+2'<

%8')(7�35=('�=0,$1��


